


EIKEG: =3

1

. IS ]
27 Bkt || A% | RESEEC | | RESEEC? | BEENG
THR|EHR|venes| TER| S| vens| TER | S5 | venes
(EME)
GXsSTEE (EE) 300 6.0 P 36.0 10.0 15.0 11.0
GXFSHEE (UE) 300X 6.0 x 18.0 8.0 7.0 3.0
GXTsBhE 300x55/8° | {& 5.0 3.0 2.0
GXTHE 300x 11 1/4° | {& 8.0 40 40
GXTsBhE 300%221/2° | @ 5.0 1.0 2.0 2.0
GXTHE 300 x 45° & 10.0 8.0 2.0
GXTsm=aheE [300x221/2° | & 5.0 3.0 2.0
GXF M ZHE 300 x 45° & 1.0 1.0
GXsm=ZHEE 300 & 1.0 1.0
GXTi Hrdm 300 & 4.0 2.0 1.0 1.0
GXF77VY 4T (10K) 300 75 & 20 1.0 1.0
GX71+ 300 & 28.0 10.0 10.0 8.0
GXTA 129 (G-LinkEyh) 300 3| 30.0 14.0 10.0 6.0
GXREEMH 300 & 23.0 9.0 8.0 6.0
INESAERZESH (10K) |25 (Z B -ayh4) | 1 2.0 1.0 1.0
K —WHHIEF (10K) [ 15x 20019730 6r-rF| B 20 1.0 1.0
ERFR VIR H=800FF & 2.0 1.0 1.0
I3V S 75:GFi-1ok(LsPRI%E S| & 40 20 20
GXE AhiE 300 & 1.0 1.0
(FHBE)
BHEBEMSRT 300mm m 313.5(102.6 127.0 83.9
HEEVI T 300mm | 28.0 110 11.0 6.0
GXMFiEE 300 EE i 54.0 18.0 22.0 14.0
GXTZHEFHES  |300:G-LinkiER| O 30.0 14.0 10.0 6.0
GX M FiEE 300:ERE | O 220 8.0 8.0 6.0
EIRFFEL 25 = 20 10 1.0
E[RFRVIAZRETL| H=800MH #H 20 1.0 1.0
IV MFET 75(10K) a 40 2.0 2.0
RYIFLVR)-THEL| 300:# T [ m 312.2|102.6 127.0 82.6
SHRT-7 T 300: M T4 | m 312.2(102.6 127.0 82.6
HERIERY-PT |W=150:# T | m 319.8/109.0 126.9 83.9
MZHhVEFET 300:10 A 10 1.0
(1)
T THrmEG-1 300 H=12:AS(fl2E) | m 8.7 8.7
T THrmEG-2 $300 H=0.8:AS(F2@) [ m 89.3| 824 6.9
T THmG-3 300 H=12:AS(f2@) | m 26 26
T IHIEG-10 |ecmmonpemasammn| m 112.6 112.6
T TEIEG-11 | ss0n=ra6@as@m | m 10.0 7.4 2.6
T THIEG-12 | oworammasonm| m 5.3 5.3
T IHEG-13  |esworossmiasinm| m 58.3 58.3
T TEREG-15 |esonoseem as@mm| m 422 422

#(G)



FO84 )k EEREE : DCIP ¢ 300

OXMENE: BLE T EAMRK G-1

OEEILR
[ ¢ 300DCIP GXF)

‘EE (L=6.0m): 10A&K X 60 = 60.000 m
-BYE 1586 + 1603 + 3131 + 4113 + 2086
3000 + 4399 + 2400

= 22318 m
-2 4043 + 3133 + 3133 + 1500

= 11.809 m

it = 94127 m

OEME ‘

AR RARTE Tk = EE
GXFHE ®300x 11 1/4° 0.400 4 1.600
GXFHE ®300%22 1/2° 0.470 1 0.470
GXFHE ¢ 300 X 45° 0.570 8 4560
GXmZHE ¢ 300 X 45° 0.260 1 0.260
GXEmZEE ® 300 0.020 1 0.020
GX Ttz f i ® 300 0.300 2 0.600
GXF 770 FHTFE (10K) @300 % @75 0.460 1 0.460
GXH#717 ® 300 0.054 10 0.540

&t 8.510
05t 94127 + 8510 = 102.637 m
MERETEt L= 102.6 m
O+ IFLUAY-THET 1026 m(FH{I)
OEHRT-7L 102.6 m (% I)
Q@IEZFXRV-IMNT LT IBEG-1 17.1 = 171 m
T ITHEG-2 570 + 254 + 6.9 = 893m
T THTEG-3 2.6 = 26 m
Y—bT 5 = 1090 m

#H(&)G1




FO84 )k EEREE : DCIP ¢ 300

OXEHmE: iE FEFME G-2

OEEILR
[ ¢ 300DCIP GXF)

‘EE (L=6.0m): 154K X 60 = 90.000 m
-BYE 2886 + 2746 + 5746 + 2256 + 2371 +
3536 + 4119

= 23.660 m
-ZYE 1482 + 1450 + 3265 + 1.701

= 7898 m

E_I_ = 121558 m

OELE -

AR RARTE Tk = EE
GXFHE ®300%55/8° 0.375 3 1.125
GXFHE ®300% 11 1/4° 0.400 4 1.600
GXFHE ®300%22 1/2° 0.470 2 0.940
GXmZHE ®300%22 1/2° 0.170 3 0.510
GX Ttz f i ® 300 0.300 1 0.300
GXF 770 FHTFE (10K) @300 % @75 0.460 1 0.460
GXH#717 ¢ 300 0.054 10 0.540

&t 5.475
®5:t 121558 + 5475 = 127.033 m
MERETEt L= 1270 m
O IFLUAY-THEBET 127.0 m(FHI)
OEHRT-7L 127.0 m(#FHEKI)
Q@IERFXRV-INT LT IWEG-2 6.9 = 6.9 m
T THrm®EmG-10 112.6 = 1126 m
T TErEG-11 7.4 = 74 m
Y—bI Bt = 1269 m




FO84 )k EEREE : DCIP ¢ 300

OX&Nm: BBE FmEmaEHx G-3
OEEILR
[ ¢ 300DCIP GXF)

‘EE (L=6.0m): 11K x 60 = 66.000 m
-BYE 3286 + 1137 + 3.176
= 7599 m
2% 1757 + 1930 + 1.450
= 5137 m
& = 78.736 m
OERE -

AR RARTE Tk = ER
GXFHE ®300%5 5/8° 0.375 2 0.750
GXFHIE ®300%22 1/2° 0.470 2 0.940
GXFHIE ¢ 300 X 45° 0.570 2 1.140
GXmZHE ®300%22 1/2° 0.170 2 0.340
GX Tz f i ® 300 0.300 1 0.300
GXH#717 ® 300 0.054 8 0.432

&t 3.902
®5:t 78736 + 3902 = 82638 m
MERETEt L3 = 826 m
O IFLUAY-THET 826 m(#FH{I)
OEHRT-7L 826 m(fEkI)
Q@IEZRFX RV M LT IHEG-11 2.6 = 26 m
T ITHEG-12 5.3 = 53 m
T TErEG-13 58.3 = 583 m
T ITHrEG-15 17.7 = 177 m
Y- T = 839m

#(%£)G3




EKEG T ITEHE

N ] N S

B ARk & REE L + THFEG-1|  THFEG-2] + THFEG-3] + THFEG-10] + TEFEG-11] + TEFEG-12] + TEFEG-13] + TEFEG15)
312.9m|m2Y[17.1m[ m2Y|89.3m|m=y| 2.6m|m%y|1126m|m2y|10.0m|m2y| 5.3m [mA1|58.3m|m=y[17.7m
SHEERR DI M T [ ASHR 15emi F[ m 560.0| 562.200(2.000|34.200(2.000| 178.600| 2.000 | 5.200| 2.000 | 225.200( 2.000| 20.000 1.000 | 5.300 1.000 | 58.300( 2.000 | 35.400
SERE A FAT| SEF 10U T m2 300.0( 299.630(0.900| 15.390|0.650|58.045(0.900|2.340]0.900 | 101.340( 1.550| 15.500| 1.550(8.215( 1.300 75.790( 1.300 | 23.010
& RIEHI m3|  440.0| 438.190(1.422|24.316/0.767| 68.493( 1.422|3.697|1.620| 182412 2.790 | 27.900| 2.790 | 14.787| 1.534 | 89.432 | 1.534 | 27.152
ERER W m3| 180.0| 177.294(0.388|6.635|0.258|23.039|0.388 [1.009|0.866 | 97.512(0.646|6.460 | 0.646 | 3.424|0.516 [ 30.083/0.516|9.133
ERRIER F4+ |m3|  190.0| 189.5880.86414.774|0.36432.505(0.864 | 2.246|0.504 | 56.750( 1.829 | 18.290| 1.829|9.694|0.728 | 42.442(0.728 | 12.886
BRAET RM-30 t=11om| m2|  300.0| 299.630|0.900 15.390|0.650 | 58.045/0.900 | 2.3400.900 | 101.340| 1.550 | 15.500 1.550 | 8.2151.300 | 75.790[ 1.300 | 23.010
ASERET (ANEHER) | memug =oomm| 2 175.0| 174.575(0.900 15.390{0.650 | 58.045|0.900 | 2.340 1.300(75.790( 1.300| 23.010

ASEREET (AR | mommis =somm| pn2 130.0| 125.055 0.900 101.340/ 1.550| 15.500( 1.550(8.215
ASERALIE m3 12.0| 11.985/0.036|0.616(0.026|2.322(0.036|0.094|0.036 |4.054]0.062|0.620(0.062|0.329(0.052|3.032|0.052(0.920
FET N +8 |m3| 2300 227.571|0.462(7.900|0.363|32416(0.462|1.201(1.060| 119356/ 0.758 [ 7.580|0.758 |4.017|0.725| 42.268|0.725| 12.833

(REHE)

SRR I BR T | Ask 15emil T | m 450.0( 449.600/2.000 | 34.200{2.000 178.600(2.000{5.200|1.000 | 112.600| 2,000 20.000( 1.000|5.300| 1.000 | 58.300| 2.000 | 35.400
SRR A - A T | S 100l T m2 700.0( 702.445(1.40023.940)|3.400|303620(3.400|8.840|1.400 | 157.640( 2.050| 20.500| 2.050 | 10.865|2.050 | 119515 3.250 | 57.525
ERRIEHI m3 40| 3.681/0.009(0.154/0.013(1.161(0.018|0.047(0.009|1.013/0.015(0.150|0.015(0.080|0.013|0.758(0.018|0.319
ASERALIE m3 24.0| 24.402(0.047|0.804|0.123(10984|0.118(0.307|0.047|5.292(0.066|0.660(0.066|0.350|0.069 [4.023|0.112| 1.982
FET MR % |m3 40| 3.681/0.009(0.154/0.013(1.161(0.018|0.047(0.009|1.013/0.015(0.150|0.015(0.080|0.013|0.758(0.018|0.319
ASEREET (MM | mrerE womm| 2 700.0( 702.445(1.40023.940)|3.400|303620(3.400|8.840|1.400 | 157.640( 2.050| 20.500| 2.050 | 10.865|2.050 | 119515 3.250 | 57.525

TG



BEKEG HEAE

EHEE H
E2 0 ekt i Aft |REHEERG-1(®)| G-1(F): /i |REHENc-2 () | REH#MHc-3(E)
TER| gaE| vens| TaR| gam| vess| TaR| gam| vens| TER| FaE| 0ens]
(BEME)
GXFSHEE (EE) 300% 6.0 ES 36.0 1.0 14.0 1.0
GXFSTEE (F)E) | 300x60 | &K 19.0 8.0 8.0 30
GXFZSHEE (YE) 100 X 4.0 ES 20 2.0
GXFZEhE 300x55/8° | @ 5.0 3.0 20
GXTZEHE 300x 11 1/4° | @ 9.0 30 6.0
GXFZHEE 300x221/2° | @ 70 1.0 40 2.0
GXTZEHE 300 x 45° & 4.0 20 20
GXFZHEE 100x 11 1/4° | @ 1.0 1.0
GXTZEHE 100x22 1/2° | {& 1.0 1.0
GXFs 2% | 300x221/2° | & 30 1.0 2.0
GXTZ il 2 e E 300 x 45° & 30 1.0 20
GXFs kiR 300 &l 5.0 2.0 20 1.0
GX —RTFE 300x100 | & 1.0 1.0
GXRs770Y (HTHE (75K) 300 % 75 @ 20 1.0 1.0
axi &MLy~ ok | 300 (BIEEEHT) | 18 2.0 2.0
axizimLyI -0 | 100 (BAREEHT) | @ 1.0 1.0
GXF74F 300 & 230 7.0 10.0 6.0
GXF74F 100 & 1.0 1.0
XTI (G-Linktsh) 300 & 26.0 7.0 13.0 6.0
GXM Y& 129h (G-Linktyh) 100 & 2.0 20
GXFHEAME 300 & 250 6.0 1.0 8.0
GXTHEaME 100 & 6.0 6.0
HEIFH IR | 2508k H=800F | %A 20 20
EYFE IR 100 H=800f8 | #i 1.0 1.0
INBEEZES S (75K | 25(ZB-2991) | & 2.0 1.0 1.0
H-WRIBEF (7.5K) | 5x oo rerre| 2.0 1.0 1.0
ZERFH VIR H=800F # 2.0 1.0 1.0
IV EAM | mermassena | 4 40 20 20
HIVP 100 X 4.0 m 14.4 14.4
FhRLVCH Lyt— 100 & 30 30
bk 100%22 1/2° | @ 20 20
FhRs s 100 X 90° & 40 40
HITSI L& 100 % 90° (Gl 3.0 3.0
GXE!hig 300 & 1.0 1.0
(FHE)
ik EMET 300mm m 307.5| 97.9 128.2 81.4
% EMRT 100mm m 9.0 9.0
BEEMRRT 100mm m 14.4 14.4
ik EUIM T 300mm =] 34.0 15.0 13.0 6.0
BT 100mm =] 3.0 3.0
EEE TN T 100mm =] 9.0 9.0
BEEYIT | BEXE: 100mm| O 40 4.0
GXTMFIES 300:EE =] 56.0 20.0 220 14.0
GXPMFIES 100:EE | A 1.0 1.0
GXsMFES  |300:G-LinkiE&| O 34.0 15.0 13.0 6.0
GXFAMFHES [100:G-LinkiEE| O 2.0 2.0
GXT M FIES 300: 2% | A 34.0 17.0 1.0 6.0
GXPMFIES 100: € [ O 6.0 6.0
300 B 20 20
HUIFBRET 100 E-3 1.0 1.0
HYIFF VI ASRE T | 2500 £ H=800f8 | #A 2.0 20
HYHAYIAFBET| 100 H=800/ | # 1.0 1.0
M=hIVEF T 100 =] 19.0 18.0 1.0
TSH#FET 100 m} 5.0 5.0
TELRARET 25 H 20 1.0 1.0
ZERFFVIAREI| H=800F #8 2.0 1.0 1.0
770V EFEL 75(7.5K) =] 40 2.0 20
730V BFEL 300(75K) | A 1.0 1.0
AYIFLVAY-7HET| 300: M I [ m 307.4| 97.9 128.2 81.3
AYIFLVR)-THETL| 100:H I | m 9.0 9.0
ERT-7 T 300:# T | m 307.4| 97.9 128.2 81.3
EHRRT-7 T 100: 4T | m 234 234
BEAZRY-PT |W=150: 4T | m 216.7| 95.6 24.4 15.3 81.4
BRI W=150 m 26| 2.6|=12m + 14m
aV))-tEIFLT ¢ 100F8 Fl 1.0 1.0
(xI%)
T THEG-2 $300 H=08:AS (28D | 81.1| 81.1
T IH@EG-3 $300 H=12:AS(F2@) | 2.6 2.6
T ITErEG-7 $300 H=08:AS (A2E) | 174 174
T TEIEG-9 | #100H08:As@2E) | m 8.6 8.6
T IHFEG-14 | 6300 H=1.8:AS() | m 79 7.9

#(G)EE



FO84 )k EEREE : DCIP ¢ 300

OXZHE B EFmEfHE G-1(&)

QOEELR
[ ¢ 300DCIP GXF)
‘EE (L=6.0m): 11K x 60 = 66.000 m
BT - 5300 + 0937 + 1401 + 4314
= 11952 m
2% 5065 + 3531 + 2919 + 1500 + 1.364
= 14379 m
E‘|‘ = 092331 m
OERE
AR RARTE Tk = ER
GXFHIE ®300% 11 1/4° 0.400 3 1.200
GXFHIE ©®300%22 1/2° 0.470 1 0.470
GXFHIE ¢ 300 X 45° 0.570 3 1.710
GXmZHE ¢ 300 X 45° 0.260 1 0.260
GX Ttz f i ® 300 0.300 2 0.600
X _ZTEE ® 300X 100 0.480 1 0.480
GXE750Y W TFEE (1.5K) @300 % @75 0.460 1 0.460
GXH#717 ® 300 0.054 7 0.378
B 5.558
05t 92331 + 5558 = 97.889 m
MERETEt L= 979 m
O IFLUAY-THET 979 m(#FAHI)
OEHRT-7L 979 m(fEkI)
Q@IERFXRV-INT LT IWEG-2 56.9 + 24.2 =  81.1m
T ITHEG-3 2.6 = 26 m
T THrmEG-7 11.9 = 119 m
Y—bL Bt = 956 m

$H(%E)GI1E




FO84 )k EERSEE :DCIP ¢ 100

OXZHE B E FEFME G-1(E): 7k

QOEELR
[ ¢ 100DCIP GXF)
"EE (L=40m): A x 40 — m
-BYE 3.000
= 3.000 m
-ZYUE 2.500
= 2500 m
B = 5500 m
OERE
AR FARTE Tk = EE
GXFHE d100x 11 1/4° 0.360 1 0.360
GXFHE ® 100 %22 1/2° 0.380 1 0.380
GXH#717 ® 100 0.029 1 0.029
GXe—2TFE ® 300X 100 0.235 1 0.235
i 1.004
®5:t 5500 + 1.004 = 6.504 m
MERETEt L3 = 6.5 m
O+ IFLUAY-THET 65 m(#FHI) = 6.5 m
OEHRT-7L 6.5 m(fEkI) = 6.5 m
[ JuiEE = m
T ITHEG-9 8.6 = 8.6 m
y—+T = 8.6 m

$H(%E)GI1E




HIVPEEREST: ¢ 100

OXZHE B E FmEFME G-1(E): 7k
| JERSFNE

[HIVP ¢ 100)
BT (L=4.0m): K x 40

@ @ ®
PE 05 + 05 + 10
OEEEYIMT T ® &R
OEHHRT-7L 20 m(fEkI)
O TRV T DCIP ¢ 100125t £

P

anf

= 00m

= 20m

= 20m

$H(%E)GI1E




FO84 )k EEREE : DCIP ¢ 300

OXZHE B EFmfHE G-2(&)

QOEELR
[ ¢ 300DCIP GXF)
‘EE (L=6.0m): 14K x 60 = 84.000 m
-BYE 1494 + 2746 + 5746 + 2256 + 2371 +
3536 + 4601 + 3.236

= 25986 m
-2 3268 + 1301 + 3265 + 1536 + 1.154

= 10524 m

E‘l’ = 120510 m

OEME ‘

AR RARTE Tk = EE
GXFHE ®300%55/8° 0.375 3 1.125
GXFHE ®300% 11 1/4° 0.400 6 2.400
GXFHE ®300%22 1/2° 0.470 4 1.880
GX il 2HE ®300%22 1/2° 0.170 1 0.170
GXm2HE ¢ 300 X 45° 0.260 2 0.520
GX Ttz f i ® 300 0.300 2 0.600
GXFE 770 T (15K) @300 % @75 0.460 1 0.460
GXH#717 ® 300 0.054 10 0.540

B 7.695
Q®5; 120510 + 7.695 = 128.205 m
MERETEt L3 E 1282 m
O IFLUAY-THBET 1282 m(#FH{I)
OEHRT-7L 128.2 m(#HEkI)
Q@IEZRFX RV M LT IHEG-11 7.4 = 74 m
T THmEmG-14 7.9 = 79 m
y—+T = 153 m




FO84 )k EEREE : DCIP ¢ 300

OXZHE B e FmEf#HE G-3(&)

QOEELR
[ ¢ 300DCIP GXF)
‘EE (L=6.0m): 11K x 60 = 66.000 m
-BYE 3086 + 0937 + 2676
= 6.699 m
2% 1450 + 1630 + 1.711
= 4791 m
& = 77490 m
OERE
AR R T % ik = ER
GXFHIE ®300x55/8° 0.375 2 0.750
GXFHIE ®300%22 1/2° 0.470 2 0.940
GXFHIE ¢ 300 X 45° 0.570 2 1.140
GXmZHE ®300%22 1/2° 0.170 2 0.340
GX Ttz f i ® 300 0.300 1 0.300
GX#2747 ® 300 0.054 6 0.324
&t 3.794
Yok 77490 + 3794 = 81.284 m
MERETEt L 3= 813 m
O+ YIFLUAY-7THET 813 m(HEZI)
OEHRT-7L 81.3 m(fEkI)
QIERFX R/ LTIEHTEKESTELE 81.4 = 814m
Yv—bL Bt = 814m




BiKEG: T THEEE

As T [1] S 1]
B oAk <T ik i wmEtetk| &t T IMEG-2| tIEG-3|+ TWiEG-7| + THimG-9| Lt Terma-14
112 1m[m&EY|81.1m|mHY| 2.6m |mEHY[11.9m|[m=Y| 8.6m|mHY| 7.9m
SHLERRYIWT T [Assm 1somet | m | 220.0| 224.200]2.000] 1622200 2.000{5.200(2.000|23.800(2.000 | 17.200| 2.000 | 15.800
FEIRE T AT | S i0ma T | m2 74.0| 74.200/0.650(52.715/0.900|2.340|0.650|7.735(0.500|4.300|0.900|7.110
ERRIEAI m3 95.0| 94.742|0.767(62.204|1.422|3.697|0.767|9.127(0.490|4.214|1.962| 15.500
TRER b m3 29.0| 29.349(0.258|20.924/0.388|1.009/|0.258|3.070|0.149|1.281(0.388 | 3.065
ETRIER FEL |m3 490| 48.598(0.364|29.520(0.864(2.246]0.280(3.332|0.280|2.4081.404|11.092
BRAET  |RM-30 t=11om| m2 74.0| 74.200/0.650(52.715/0.900|2.340|0.650|7.735(0.500|4.300|0.900|7.110
ASHE T (A N$HR) | B moom| m2 74.0| 74.200/0.650(52.715/0.900|2.340|0.650|7.735(0.500|4.300/0.900|7.110
ASHRALIE m3 30| 2.968(0.026|2.109[0.036|0.094(0.026|0.309|0.020{0.172|0.036|0.284
FELTNIE T® [m3 380 37.752(0.363|29.439|0.462(1.201/|0.179(2.130|0.210|1.806(0.402|3.176
(REHE)
SHAE LD LTI T | AsHR 150mBlF| m 41.0| 41.000 2.000|23.800{2.000| 17.200
MR AT | 10T | 2 270( 26.980 1.400116.660|1.200 [ 10320
ERRIEAI m3 01| o114 0.006{0.071{0.005|0.043
ASTRALIE m3 10[ 0953 0.049(0.583(0.043(0.370
RELTWE T/ |m3 01| 0.114 0.006{0.071{0.005|0.043
ASERET (AN HEHER) | B womm| M2 10.0 10.320 1.200|10.320
ASEHEE T (HEHER) | memmE wiomm| M2 17.0] 16.660 1.400(16.660

T (&)GE



EXBAELGLSE T B m@ I iE MAR~tiE B4 i oE A ImEY#=E
+ THrEG-1 MBI [ ASAR 15cmIATF [ m 2.000
¢ 300 H=1.2: AS (f2[@) SEEARE R AT | SHEE10ecmL T | m2 0.900
BRI HI m3 [0.9x1.58 1.422
" m": EIRIER b m3 (0.9 x0.52—0.08 0.388
A o E‘_“::Z' Sle EWER REL m3 0.9 X 0.96 0.864
BEET RM-30 t=T1cm [ m2 0.900
. = METEE 3 _ ASSET (AN %) | BEBEE =30mm| m2 0.900
= = N : ASHERALER m3 (0.9 X 0.04 0.036
' 2l = EL Tk £ m3 |4 —1BR/0.9 0462

- L1 Ui ()
- SHEERRYIBT T | ASHR 15ecmBAT | m 2.000
SHEEMRE IR - BAT | S5 E10emLL | m2 1.400
’_”"3 ERRIEH m3 0.9 X0.01 0.009
- ::u 280 ASHRALE m3 [0.9x0.03+0.5x0.04 0.047
R E e 1BE TR m3 0.009
i ASEHET (MMM | BEZHE t=40mm| m2 1.400
t3T H=2.0 m 1.000

S DCIP ¢ 3007 & :0.320"2 X 3.14+4=0.080
EXRBWELALSE T @ I iE iZ /NS> Vv i OFE A ImBY#=
+ THEG-2 SHERRYIMIT | ASKR 15cmEAT | m 2.000
d) 300 H=0.8: AS (fF2[@) SEEMRE RS- AT | SHEE10ecmLL T | m2 0.650
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